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M Which equation and answer

represents these balance
beams and the bottom solution

A
Aot =4c B2t =4c
) = 2s = 8t 2s = 8t
A 8c=s Tc = s

? an 3eeee

Which equation and answer
represents these balance
beams and the bottom solution
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Ao —6c B2s = Tc
N 2c = 6t c = 6t
[ | !
A s=9t s=9t+s
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AMAr.—.— Which equation and answer

represents these balance
beams and the bottom solution

( I ]
Aot =2¢ Bat=2c
5 c = bc 2s = bc
T A = 4t = s 6t = s
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w Which equation and answer

represents these balance
beams and the bottom solution

00 Az%
A8c =2t P6c =2t
) 2s = 8t 2s = 6t
[ | /
A s = 8c s = 9c¢
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Which equation and answer
represents these balance
beams and the bottom solution

Abs = 2t B6s = bt
A 2 6c = 3s 5¢ = 3s
A t=6c t=6c¢c+t

M Which equation and answer

represents these balance
beams and the bottom solution
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Ade=4s Boc—=4s
A 6c = 3t 6c = 3t
A ds +c=t 4s—=1t

Which equation and answer
represents these balance
beams and the bottom solution

A9c =2t Bbc =2t

o 6t = s 6t = 2s
! [ |

A 10c = s Oc=s

M“ Which equation and answer

represents these balance

beams and the bottom solution

Aoe=8s B2c=8s

2 ® 6t = 3s 6t = 3s
A 8t =c Ot = ¢
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